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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
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a)  Which is the variable that determines the
equilibrium level of income in the classical

model?
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b)  What is the crucial assumption that ensures
full employment equilibrium in the Classical

model?
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g)

h)

479/Eco.

State the condition for which full employment
is not completely ensured in the Keynesian

model.
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What is ‘Money Illusion’?
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State the Say’s Law of Markets.
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Given that tax is a function of income, write
down the expressions for the multiplier for
changes in Government expenditure for the
Simple Keynesian and the ISLM models.
Which of these multipliers is greater?
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Write down the equation of exchange.
e el =74 |
If the money supply is Rs.500 and nominal

income is Rs.4,000, what will the velocity of
money be?
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i)

k)

D

p)
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State the short run and long run properties of

a consumption function.
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Define MEC and MEIL.
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What do you understand by ‘crowding out
effect’?
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Draw the LM curve under the inventory

theoretic approach.
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Define Narrow Money.
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What is reverse repo rate?
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What are the major instruments for controlling

the supply of money in an economy?
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What do you understand by demonetisation?
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2. Answer any four questions: 5x4=20
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a)

b)

d)
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Explain the concept of classical dichotomy in
brief.
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Briefly discuss how, according to the
Cambridge equation, an increase in the supply

of money will affect the price level.
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Explain briefly the acceleration principle of

investment.
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Distinguish between:
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1)  Gross investment and Net investment,
and
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i1)  Autonomous investment and Induced
investment
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g)

h)

What is a money-multiplier? Determine the
factors upon which the value of the money

multiplier will depend.
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Derive the money demand curve under the

regressive expectations approach.
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How does knife-edge instability arise in the

Harrod-Domar model of economic growth?
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Explain briefly the concept of ‘Golden Rule

of Capital Accumulation’.
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3. Answer any two questions: 10x2=20

@I BB 2Aeea Ted 7l ¢

a)
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Derive the labour supply curve for the

Classical model.
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b)

d)
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Derive the IS curve and show how it would
change if there is an increase in Government

expenditure.
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Discuss Duesenberry’s Relative Income

Hypothesis.
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What is steady state growth rate? Explain how
the steady state growth rate is derived under

Harrod-Domar model.
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